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Question Number : 1 Question Id : 5977431161 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Consider the following statements:
n i

. 2ng(=2)n .
I. lim S~oar does not exist

n—oo

. 3n4(-3)" :

II. lim il S does not exist
n—o0 4n

Then

A) Tis true and 1T is false
B) Iis false and II is true
C) Iand II are true

D) neither I nor 1T is true

Question Number : 1 Question Id : 5977431161 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ
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A) 1T NTa e
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Question Number : 2 Question Id : 5977431162 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Consider a regular 10-gon with its vertices on the unit circle. With one vertex fixed. draw straight
lines to the other 9 vertices. Call them L, L, ..., Ly and denote their lengths by €4, €5, ..., £5

respectively. Then the product £,£5 - £q is

A) 10
B) 10v3
50
C) =
D) 20

Question Number : 2 Question Id : 5977431162 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

U e <97 S T R A foraeh S U 99 W e, U i iR 9 S 9 SN W i W di . 3%
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A) 10
B) 103
50
C) E
D) 20

Question Number : 3 Question Id : 5977431163 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



The value of the integral

/2
sin? x
[ dx
I o e
—-mf2
is
T
A) =
m
B) i
T
C) 5
Tl'.'z'
D) %

Question Number : 3 Question Id : 5977431163 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ
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Question Number : 4 Question Id : 5977431164 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let R be the set of all real numbers and
f(x) = sin'® x (cos® x + cos* x + cos? x + 1)
for x € R. Let
S = {A € R | there exists a point ¢ € (0,2r) with f'(c) = Af(c)}.

Then
A)S=R
B) § ={0}
C) S = [0,2x]

D) S is a finite set having more than one element

Question Number : 4 Question Id : 5977431164 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



qadfex € R Ffog R @it arafas demst & a8 6t f () = sinl® x (cos® x +
cos*x + cos?x + 1).7A%fF S =
(A € RJi whigc € (0,2m) 2w fere /() = Af (0)}. 7=

A)S=R
B) S ={0}
c) §=1[0,2m]

D) S U ¥ AT S Ak TR A= €,

Question Number : 5 Question Id : 5977431165 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A person standing on the top of a building of height 60+/3 feet observed the top of a tower to lie
at an elevation of 45 . That person descended to the bottom of the building and found that the top

of the same tower is now at an angle of elevation of 60 . The height of the tower (in feet) is

A) 30
B) 30(v3+1)
C) 90(V3+1)
D) 150(v3+ 1)

Question Number : 5 Question Id : 5977431165 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

60~/3 e 5= T % @ W @S U S, Rl TR o 3 #5745 o 3 10 W S T 2. 98
Sk e % = JataT & 3TR I TR & 9 w60 60, 3 I3 10T W T . THR 6 S (hie 1) 2

A) 30

B) 30(v3+1)
c) 90(v3 +1)
D) 150(v3 + 1)

Question Number : 6 Question Id : 5977431166 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



Assume that 3.13 = m = 3.15. The integer closest to the value of

sin™!(sin 1 cos 4 + cos 1sin4). where 1 and 4 appearing in sin and cos are given in radians. is

A) =1
B) 1
Q) 3
D) 5

Question Number : 6 Question Id : 5977431166 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

e % 3.13 < 7 < 3.15@@sin"1(sin 1 cos 4 + cos 1 sin 4) % 77 & Fehead e @1 22
Glﬁ. sinUﬁimsﬁﬁEﬂW 11134‘@71:{11%

A) —1
B) 1
3 R
D) 5

Question Number : 7 Question Id : 5977431167 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The maximum value of the function f(x) = e* + xInx on the interval 1 < x < 2 is

A)ye+ln2+1
B) e2+2In2

g O O el s
C)He™ask . In 5
3, 3

3/2 it b
D) %% 4 2ln2

Question Number : 7 Question Id : 5977431167 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

FmEl < x <29 % f(x) = e* + xIn x FHea AR 22

et ilmzai
B) 21+ 2In2

T N e
C) e +21n2

3/2 E 3
D) e +2].I]2

Question Number : 8 Question Id : 5977431168 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let A be a 2 X 2 matrix of the form A = [T Il)]’ where a, b are integers and —50 < b < 50. The

number of such matrices A such that A™1, the inverse of A. exists and A~? contains only integer

entries is

A) 101
B) 200
C) 202
D) 1012

Question Number : 8 Question Id : 5977431168 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

qA o A, ['i i]mfﬂuaﬁz X 2 1ege . 58l a, b w3k —50 < b < 50 2. w1

A Fr e I St e =gohn AL, 1 arfeae 8, 9 AT L% steea e il i g e,

Ay 101
B) 200
c) 202
D) 1012

Question Number : 9 Question Id : 5977431169 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let A = (ai j) . be a 3 X 3 invertible matrix where each a;; is a real number. Denote the

1= [J«:
inverse of the matrix A by A~%. If E?: 1a;;=1for1 =i <3, then

A) sum of the diagonal entries of Ais 1

B) sum of each row of A7 is 1

C) sum of each row and each column of A71is 1
D) sum of the diagonal entries of A7 is 1

Question Number : 9 Question Id : 5977431169 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



A = (a,;j) g UH 3 X 3 1 ok HAE €, el Seleh a; j aredios WA € . A o ook

7 A% frefrm e
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o
A) A & faeet gfafei #ram 1 8.
B) AL & e uf A 1
) Al vemiftr E s I 1 2
D) A~ % foraot wfafeat sraim 1 2.

Question Number : 10 Question Id : 5977431170 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let x, v be real numbers such that x > 2y > 0 and
2log(x —2y) =logx +logy.

Then the possible value(s) of %

A) is 1 only
B) are 1 and 4
C) is 4 only
D) is 8 only

Question Number : 10 Question Id : 5977431170 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

oA R x, y TRaEw SN @ R e x > 2y > 0
w 2log(x — 2y) =logx +logy.
ad ﬁ‘gﬁﬂl’ﬂ ELR:ICE

A) Faal®
B) 1ug 4%
C) FaA4 2
D) #a@ 88
Question Number : 11 Question Id : 5977431171 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



2 2
Let x—z + Lz = 1 (b < a). be an ellipse with major axis AB and minor axis CD. Let F; and F, be
a b

its two foci, with 4, F;, F,, B in that order on the segment AB. Suppose £F;CB = 90", The

eccentricity of the ellipse is

V3-1
2

A)
B)

C) -

Question Number : 11 Question Id : 5977431171 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ
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Question Number : 12 Question Id : 5977431172 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let A denote the set of all real numbers x such that x® — [x]® = (x — [x])3. where [x] is the

greatest integer less than or equal to x. Then

A) A is a discrete set of at least two points

B) A contains an interval. but is not an interval

C) A is an interval. but a proper subset of (—oo, c0)
D) A= (—,»)

Question Number : 12 Question Id : 5977431172 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



T of oF A @it referss Gestt x o ag==a 6 30 wehR et war e i ad — [x]2 = (x — [x])3
STt [ ], o T3er A1 0 e e i €,

aa

A) A =g o Tt 1 forfers ag== 2.

B) A ¥ U Squel  Uq & Siale TEl €

C) A T 3 8, W (— 0, 00) T 3 STaT=a &
D) A = (—00,0)

Question Number : 13 Question Id : 5977431173 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Define a sequence {s,,} of real numbers by

dl
e Z — forn = 1.
vmsd ke

Then lim s,

n—oo

A) does not exist

B) exists and lies in the interval (0,1)
C) exists and lies in the interval [1,2)
D) exists and lies in the interval [2, o)

Question Number : 13 Question Id : 5977431173 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

n = 1 & e, awafas G&i & U 39 {S,, }

1 -
— T -
Sy — k=0_n2+k BT 9N

@ lim s,

A) N ARG AL &.

B) aTftae ¥ & #1R aime (0,1) & e.
C) @R ¥ & 3T ofae [1,2) e,
D) A | & IR a0 [2, o) T @ e,

Question Number : 14 Question Id : 5977431174 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



Question Label : MCQ

Let R be the set of all real numbers and f: R — IR be a continuous function

|f(x) — f(¥)] = |x — y| for all real numbers x and y. Then

. Suppose

A) f is one-one. but need not be onto
B) f is onto. but need not be one-one
C) f need not be either one-one or onto
D) f is one-one and onto

Question Number : 14 Question Id : 5977431174 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

n o T R it afass sl & an== g 3R f: R — R s ad e 8. 59 of @l araissn @esi
x,ysfe|f () —fO) = |x —yl.@=

A) f T (one-one) B, T HAF=3TGH (onto) BT ST 8 2.
B) f HAT=daeh (onto) 1 W\}Uﬁﬁﬁ (one-ong) BT ST T ©.
C) f Eh‘T W {one-one) 9T HAT=Slah (onto) E’FIT TS qﬁ’["\é
D) fW (one-one) Ud 3TT=@1&eh (onto) &

Question Number : 15 Question Id : 5977431175 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let
—, x€(0,1),
f(l’) = 3sinx 0,1)
1, x=0.
Consider the integral
Yn
I, =vn " flx)e ™ dx.
0

Then lim I,
n—oo

A) does not exist
B) exists and is 0
C) exists and is 1

D) existsandis 1 —e™!

Question Number : 15 Question Id : 5977431175 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



i \/ﬁfolfnf(x)e_”x dx iR .

@ lim [,
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C) ARaaHg it 1z
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Question Number : 16 Question Id : 5977431176 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The value of the integral
3

J‘ ((x — 2)*sin®(x — 2) + (x — 2)?°1°% + 1) dx
1

18

A) O
B) 2
C) 4
D) 5

Question Number : 16 Question Id : 5977431176 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T flg((x — 2)*sin3(x — 2) + (x — 2)2°1° + 1) dx

FOAE

A) O
B) 2
C) 4
D) 5

Question Number : 17 Question Id : 5977431177 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



Question Label : MCQ

In a regular 15-sided polygon with all its diagonals drawn. a diagonal is chosen at random. The
probability that it is neither a shortest diagonal nor a longest diagonal is

A)

B)
)

E|\n\n|mm|mw|m

D)

Question Number : 17 Question Id : 5977431177 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Torelt 15 =i T st o @il forehol @i 71 8, 378 U U fefhol STrhieeh &9 4 = foran <imar €. @i
TTTrehar & Tk 18 T ot a=d o=t fasol & STt T € a=d gier faat 22

A)
B)

C)

= Olooutiw] N
ol"o

D)

Question Number : 18 Question Id : 5977431178 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let M = 23% — 215 4+ 1 and M? be expressed in base 2. The number of 1°s in this base 2
representation of M? is

A) 29
B) 30
C) 59
D) 60

Question Number : 18 Question Id : 5977431178 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



qrei M = 230 — 215 4 1 i M2 i simew 2 v o foban st 2. M 23 i 2 & g Fewor  frad
1 @ e?

A) 29
B) 30
c) 59
D) 60

Question Number : 19 Question Id : 5977431179 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Let ABC be a triangle such that AB = 15 and AC = 9. The bisector of ZBAC meets BC in D. If
ZACB = 2£ABC. then BD is

A) 8
B) 9
C) 10
D) 12

Question Number : 19 Question Id : 5977431179 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A ABC ww bqsi s war e i AB = 15w AC = 9. ZBAC wiigwsa BC W D W feran
2.
afe £/ACB = 24/ABCT&@ BD &

A) 8
B) 9
c) 10
D) 12

Question Number : 20 Question Id : 5977431180 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



The figure in the complex plane given by
10zz —3(z% + 2%) + 4i(z22 - 2%) =0

is

A) a straight line
B) a circle

C) a parabola
D) an ellipse

Question Number : 20 Question Id : 5977431180 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

gt aad 102z — 3(z2 + 22) + 4i(z% — 22) = 0 g e fm,

A) T @R

B) UH A &.

C) U WA &,

D) U dHad &,

Part I Physics

Section Id : 59774390
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774390

Question Number : 21 Question Id : 5977431181 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
Students A. B and C measure the length of a room using 25 m long measuring tape of least count (LC)
0.5 cm. meter-scale of LC 0.1 cm and a foot-scale of LC 0.05 em, respectively. If the specified length
of the room is 9.5 m. then which of the following students will report the lowest relative error in the
measured length?

A) Student A
B) Student B
C) Student C
D) Both. student B and C

Question Number : 21 Question Id : 5977431181 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



B A, B 3R € Tt ot ot &g 99T 25 m & 7e 6T (0.5 om ST (LC)), Hiet-That (LC, 0.1 cm)
IR B2 (LC. 0.05 cm) ¥ AU &. Al L bl [FHIGE @ag 9.5 m €, A = 5 4 o ot g wdt el evas
STITET A¢T W H B

A) BEAA
B) BAB

C) BEAC

D) SHIBEAB 3R C

Question Number : 22 Question Id : 5977431182 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Meena applies the front brakes while riding on her bicycle along a flat road. The force that slows her

bicycle is provided by the

A) front tyre.
B) road.

C) rear tyre.
D) brakes.

Question Number : 22 Question Id : 5977431182 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T U TUIE TS T WEiohel Jetid 0 ST dTel sich oIl 8. I8 oo1 S SHeh! T1gfehet =l i1 9 <ol 8, el °
e 82

A) PRI,
B) @S d.
C) T ufer @,
D) S .

Question Number : 23 Question Id : 5977431183 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ
A proton and an antiproton come close to each other in vacuum such that the distance between them

is 10 cm. Consider the potential energy to be zero at infinity. The velocity at this distance will be

A) 1.17 m/s,
B) 2.3 m/s.
C) 3.0 m/s.
D) 23 m/s.

Question Number : 23 Question Id : 5977431183 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



Ueh W12 SR SIT-S121H (anti-proton) FET = U S8 % (-2 30 WEhI 311 & o 3 9ed g4 10 om T&d1 8. 3 W
TesAferT STl 261 51 [ W o1 & G 36 G IR S Tt & 2

A) 1.17 m/s.
B) 2.3 m/s.
C) 3.0ms.
D) 23 m/s.

Question Number : 24 Question Id : 5977431184 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A point particle is acted upon by a restoring force -kx’. The time period of oscillation is T when the

amplitude is A. The time period for an amplitude 2A will be

AT

B) T/2
C) 2T
D) 4T

Question Number : 24 Question Id : 5977431184 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Tohelt formg 0T o S0 o Wegoi a1 -kod ST 77T 2. SR A o To7g 2Ter o1 #ATad-hiel T 2. 2A 3T % feig
a2l FehaT 22

A) T
B) 2T
C) 4T
D) T2

Question Number : 25 Question Id : 5977431185 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The output voltage (taken across the resistance) of a LCR series resonant circuit falls to half its peak
value at a frequency of 200 Hz and again reaches the same value at 800 Hz. The bandwidth of this

circuif is

A) 200 Hz.
B) 2003 Hz.
C) 400 Hz.
D) 600 Hz.

Question Number : 25 Question Id : 5977431185 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



Question Label : MCQ
U LCR AVl 131G it 3 fiw forsiar o1 99 (S iR & Si0 o off= 3191 7311 2) 200 Hz S W 319 sifeanas
I o ST 81 ST & 3R 800 Hz W UH: FT HI W Y5 ST 8. 39 97 o o bl =1 (band width) T 82

A) 200 Hz.
B) 200\ 3 Hz.
C) 400 Hz.
D) 600 Hz.

Question Number : 26 Question Id : 5977431186 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ
A collimated beam of charged and uncharged particles is directed towards a hole marked P on a screen

as shown below. If the electric and magnetic fields as indicated below are turned on.

:..3_ ey e s

outof (*) 5
the plane

A) only particles with speed E/B will go through the hole P.

B) only charged particles with speed E/B and neutral particles will go through P.

C) only neutral particles will go through P.

D) only positively charged particles with speed E/B and neutral particles will go through P.

Question Number : 26 Question Id : 5977431186 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



TERTIR, STEfETT 3T SHEG 0 8 =+ U aiaia (O i) for 9ot ot vee w fafed f2s p &t a1t
e 2. afe o % STFaR 3210 37R At & a=ad (out of the plane) TFehiT &1 I I[& A feam <g af FefeRad
T T I AT H e 2

=

outof (*) 5
the plane

A) e o 0T Tl T E/B & 53 P 4 et T,

B) et o ST 0T FFeh1 7T E/B € 7R SaTeli o7 5% P U S1eht T,
C) heel IETHH 0T 3% P U BI T,

D) hefet ST 0T fSFehi i E/B & 3R 3TRA 0T 1355 P U SIah T,

Question Number : 27 Question Id : 5977431187 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

An engine runs between a reservoir at temperature 200 K and a hot body which is initially at
temperature of 600 K. If the hot body cools down to a temperature of 400 K in the process. then the
maximum amount of work that the engine can do (while working in a cycle) is (the heat capacity of

the hot body is 1 J/K)

A) 200(1-/n2)T.
B) 200(1-/n3/2)7.
C) 200(1+/n3/2) 7.
D) 200 T.

Question Number : 27 Question Id : 5977431187 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

e 359 200 K A9 aled 3567 HUSR 3R Ueh T fiig foirent Tiives aa™ 600 K & & 921 sheitd 2. 4fe 3@ ufehan
i fifg %1 ¥fiqe 400 K T &1 ST 8 f 30 =156 H il ad §U I8 3o SiTerhad T 1 el ot wehel o2 (i fifg
FT T 1 J/K )

A) 200(1-fn2)].
B) 200(1-In3/2)J.
C) 200(1+In3/2) 1.
D) 200 1J.

Question Number : 28 Question Id : 5977431188 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



The clocktower (**ghantaghar™) of Dehradun is famous for the sound of its bell. which can be heard.
albeit faintly. upto the outskirts of the city 8 km away. Let the intensity of this faint sound be 30 dB.
The clock is situated 80 m high. The intensity at the base of the tower is

A) 60 dB.
B) 70 dB.
C) 80 dB.
D) 90 dB.

Question Number : 28 Question Id : 5977431188 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

TR % TfEE HUeTeR 3 et i e e et SHfeR R A 8 ke SRR o TR ST Wkt 2. A 30w eaf A o
30 dB & ST EET 80 m FaTS W Rud 2 i 9vere o SR W =i i dian faadi o

A) 60dB.
B) 70dB.
C) 80dB.
D) 90dB.

Question Number : 29 Question Id : 5977431189 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
An initially uncharged capacitor C is being charged by a battery of emf E through a resistance R upto
the instant when the capacitor is charged to the potential E/2. the ratio of the work done by the battery
to the heat dissipated by the resistor is given by.

A) 2:1
B) 3:1
C) 4:3
D) 4:1

Question Number : 29 Question Id : 5977431189 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

TRF H AT foRt denfe i afciee R ° Sieak £ Rl ares o il U sl SR 39 &0 qa STEiea G
ST €, ST ek ST 1 el £/2 BT ST 6. Tl siedl GRT o T hif 7R Aicriereh ST 3SH1ET ol SI9T {1 8rr?

A) 2:1
B) 3:1
C) 43
D) 4:1

Question Number : 30 Question Id : 5977431190 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Consider a sphere of radins R with uniform charge density and total charge Q. The electrostatic

potential distribution inside the sphere is given by 0(r) = - (a + b(r/R )C). Note that the zero of

4megR

potential is at infinity. The values of (a, b, ¢) are

A) G,-3,1)
BPE. )
C) G.31)

D) G.—3.2)

Question Number : 30 Question Id : 5977431190 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

TSI ST Ee aTet U Tt sl dhedel shiT=1g, foRiehT et ST Q oIt T R . 38 Tiied o 17at FeRefer o
& R B(r) = —2— (a + b(r/R)°) & Frfie foram o 2. 7 wfifsrr o sa W fova I 2. 39 SR W (g,

4megR

b, ¢) & T T B

. 1 3
s 1

BJ (E J_Elz)
w o v

0 G.3.D

| 1
DJ (E J_Erz)

Question Number : 31 Question Id : 5977431191 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

The efficiency of the cycle shown below in the figure (consisting of one isobar, one adiabat and one

isotherm) is 50%. The ratio, x, between the highest and lowest temperatures attained in this cycle obeys
(the working substance is an ideal gas)

p isobar

adiabat

isotherm

By % —eT ™
et "
) x = g** 1

) 25— ex 1



Question Number : 31 Question Id : 5977431191 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

fi=r e e o o feu 0 =56 o U §9EE (isobar). U TGS (adiabatic) 3TR Ueh @HATT (isotherm) & =i @&Tar
50% . 39 =2 o SR YT J=aad SR (e aoami &6 S x 379 U fore Hieon &1 Surer 7l 87 (J80
FHEHRT TaTd Ueh 379 7149 §)

p isobar

adiabat

isotherm

\Y
R) ¢ = g
B} x5=g"
C) x =e* 1
D) x2 =e* 1

Question Number : 32 Question Id : 5977431192 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A right-angled isosceles prism is held on the surface of a liquid composed of miscible solvents A and
B of refractive index n4=1.50 and n5=1.30. respectively. The refractive index of prism 1s 7,=1.5 and
that of the liquid 1s given by nz = Cana+(I-C4np where C4 is the percentage of solvent A in the liquid.

Liguid
outlet

If B¢ is the critical angle at prism-liquid interface. the plot which best represents the variation of the

critical angle with the percentage of solvent is:

A
) 6, B) g, ) g D) g_
oo} oo} ol ant
aD 80 F 8o a0k
7ot 70} . -l
80 60 sol 60
50F 50 50 b H0F

0 05 16, 0 0.5 1 G i : 3



Question Number : 32 Question Id : 5977431192 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T Tfgag wenvi w2 fsvi faemet A it B, 5 sTadiE FEe: 2,=1.50 31 n,=1.30 8, W
39 (liquid) =T GdE T W@ T &, =1 3 ST9a0Hi® 1,=1.5 € 31K 30 29 o ST0a0=1 1 30 GHE0T 1, = Cn+(1-
C.)ng A T AHd 2. el C, 59 1 foremos A i wfoemar €.

Liquid
outlet

Ife @ =9 31K 3 &t Fiaede W Hifds H97 8 af i 91 3Ted shifdsh v ¥ Seaa 311 Heaes & giqerad &
HeleT ol el Tdieh B9 U ok AT &7

A
) g, B) g, > D) g,
aof sof g0t aot
80 BO sk ol
[l 70F 70}k 70F
60 60 = aol
50F 50| sob s0f

- & L 1 1
0 0.5 1 Cu 0 05 1 G,\ 0 0.5 1Cy O 0.5 1 CA

Question Number : 33 Question Id : 5977431193 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Instead of angular momentum quantization a student posits that energy is quantized as E= — Ey/n
(Eg=0) and # 1s a positive integer. Which of the following options is correct?

A) The radius of the electron orbit is r & vn.
B) The speed of the electron is v « vVn.
C) The angular speed of the electron is w o 1/n.

D) The angular momentum of the electron is &« yn.

Question Number : 33 Question Id : 5977431193 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



PRIV HET o FT-CHIeR0T o T TR Uk S I8 H1H il & foh 11 %l dal-eHIdR0 E= — Ep /n % STAR 8la1 &. Tel
E~0 3R n T ¥FTeh ol ©. S0 aletd 78 &

A) sﬁﬁﬁﬁﬁaﬁﬁﬂaﬁﬁmro(v{r_l%.
B) Ioidei ol =9 v & y/n .

C) TERHAFI BT TTw « 1/n 2.
D) T2 & T T o /.

Question Number : 34 Question Id : 5977431194 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

A monochromatic beam of light is incident at the interface of two materials of refractive index n1 and
mp as shown. If ny=n7 and O is the critical angle then which of the following statements is NOT true?

A) ©1= 63 for all values of ©;.

B) cosB21s imaginary for ©1>6c.
C) cosO2=0 for 61= O¢.

D) cos©s is imaginary for ©1= ©.

Question Number : 34 Question Id : 5977431194 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



n, 3 n, 3G aTct &1 Tarei i 3{qHide W vl {01 4= 3ATafd eidl &. A n,>n, 8 31K 6, FHifasw Hore a
T o T e e 22

A) O FmfirAisfau0,=0,.
B) O, >0, & U cos, Feafia ©.
C) 0,=0,% f cosB,=0 &.

D) 0,= 0. T cosO, Feufah &.

Question Number : 35 Question Id : 5977431195 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
The intensity of light from a continuously emitting laser source operating at 638 nm wavelength is
modulated at | GHz. The modulation is done by momentarily cutting the intensity off with a frequency
of 1 GHz. What is the farthest distance apart two detectors can be placed in the line of the laser light.
so that they can see the portions of the same pulse simultaneously? (Consider the speed of light in air
3x10% m/s)

A) 30 pm
B) 30 cm
C) 3m
D) 30m

Question Number : 35 Question Id : 5977431195 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

638 nm TETSE T R U e It G aTel TR = JehIeT sl disral | GHz i W Higfed €. 28 diger

(modulation), 1 GHz STl ¥ TeRTel =hi TlIsHl 261 £707 41X o feAw ek o fehalm STIerT 8. T o ehen o6l (il o 21 He=eh

(detectors) Afereha Tore & T T ST o o Weh ¥44e % Wi o6 UehalT™) <@ ek (8T | Wbt ol <1t 3x10° m/s J1
r)

A) 30 pm
B) 30cm
C) 3m

D) 30m

Question Number : 36 Question Id : 5977431196 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A conducting rod. with a resistor of resistance R. is pulled with constant speed v on a smooth

s
conducting rail as shown in figure. A constant magnetic field B is directed into the page. If the speed
of the bar is doubled, by what factor does the rate of heat dissipation across the resistance R change?

@ ® @ @ @
@ & @ @ @ Vv

Ay 0
B) V2
) 2
D) 4

Question Number : 36 Question Id : 5977431196 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

FATTaR, T =Tereh 9v1, fora U it R 8, 31 U f+aa =1t v § o 1ot @@ R @i S 8. T sTiedi
Trah & B 30 T8 % STt ohi fam o Fafra 8. afe su aor i = g A & e i it R 9 SRR IS
hl & fora TUTeR 4 SIgerTl?

A) 0
B) v2
&) 2
D) 4

Question Number : 37 Question Id : 5977431197 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The time period of a body undergoing simple harmonic motion is given by T = p®D?S€, where p is
the pressure. D is density and S is surface tension. The values of a. b and c respectively are

A) 1. %, 3/2.
B) 3/2,-1/2, 1.
£y 1,212 36
D) -3/2, %, 1.



Question Number : 37 Question Id : 5977431197 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

TS ST T 3 T (4 1 2ie shiel 91T T = p2 D2 S¢ § fefua foram e 2. Sief p e, D 99 3R S8
T 2. 38 SR W a, b 37 ¢ & T2 91 99T 77 27

A) 1,%,3/2.

B) 3/2,-1/2,1.
C) 1,-1/2,372.
D) -3/2,%, 1.

Question Number : 38 Question Id : 5977431198 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Consider the following statements regarding the real images formed with a converging lens.

I- Real images can be seen only if the image is projected onto the screen

II- The real image can be seen only from the same side of the lens as that on which the object is
positioned.

III-  Real images produced by converging lenses are not only laterally but also longitudinally

mverted as with mirrors.

Which of the above statement/statements is/are incorrect?
A) OnlyTand IIT

B) All three

C) None

D) Only IT

Question Number : 38 Question Id : 5977431198 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
U ATHERT & g0 974 ool artaes Siatea o fome o 7 shemai w faam fifsg,

I- e o Tidfers shael Yoot 98 BT ok f o <1 ekl &,

-  aRide Sicisrs ohi shelet <&l o ST 3T U <G ST Gehal & T8l 15 (object) TET TAT 2.

I1- ATV T A S SR e Siferes] =1 chael ITideh (Ia‘reral)@ﬁfgﬁ'@aﬁ (Iongitudinal)lﬁqﬁﬁﬁﬁ‘iﬁlﬁm
BId & = o 2dur o BT €.

0 foTd TC FeHl O U F I U e e e

A) Hael [ SR

B) @t

C) i3 ot 7
D) %A 11



Question Number : 39 Question Id : 5977431199 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A zinc ball of radius. R=1 cm charged to a potential -0.5 V. The ball is illuminated by a monochromatic
ultraviolet (UV) light with a wavelength 290 nm. The photoelectric threshold for zine is 332 nm. The
potential of ball after a prolonged exposure to the UV is

A) -05V.
B) 0V.

C) 0.54 V.
D) 0.79 V.

Question Number : 39 Question Id : 5977431199 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

o il R= 1 om =3 aTefi e 7ig i -0.5 V forvid aeh ST fSTd o6t . S 71S i 290 nm TOTE= ITei Uehauft wrsm=T
ferront @ weifua fepam <tam 2. e o fore wammon [EEN gt (photoelectric threshold) 332 nm 2. WIeTHT 3o &
SeieRTeTes I=3Te (prolonged exposure) & 9TE 39 7ig W fehaT fava gim?

A) -05V.
B) 0V.

C) 054 V.
D) 0.79 V.

Question Number : 40 Question Id : 5977431200 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

A source simultaneously emitting light at two wavelengths 400 nm and 800 nm is used in the Young’s
double slit experiment. If the intensity of light at the slit for each wavelength is 7,. then the maximum
intensity that can be observed at any point on the screen is

A) D

B) 21,

C) 4,

D) 8 Ib

Question Number : 40 Question Id : 5977431200 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

WHTE—WWTﬂ@EPTWETWNO nm 3T 800 nm T 3cATsId A ATet THT9T = Hid 1 39 R
. 27 T v e et o e i dfiofaT /, € ol weet o fehi +fi feig v stierra citst fepaAi s

A) I,

B) 2I,

C) 41,

D) 87,



Part I Chemistry

Section Id : 59774391
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774391

Question Number : 41 Question Id : 5977431201 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The stability of

CMe
/ | CMEQ /O/ 2
= Me,N
|

Me @
\’JLCME?
Me
i

follows the order:

A)I=IT=1I1I
B) I=>1I>III
C) I>IM=>1
D)IOI>M=>1

Question Number : 41 Question Id : 5977431201 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

|:.._ ,E-\ - "'J'\m_ l'\ m
® @ Me
s E:Mez r’?\TI’CMEE //fl\ CMEQ
- |
QJ/ MeoN™ \/\[ Me
[ I I
TEHTE
A) 1>11> I
B) I=>1>1I
C) M>11>1
D) TI=>11 =1

Question Number : 42 Question Id : 5977431202 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Among the following. the biodegradable polymer is:

A) polylactic acid

B) polyvinyl chloride
C) bakelite

D) teflon

Question Number : 42 Question Id : 5977431202 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T=tifeRa 4 St =TI 8@ (biodegradable polymer) & :

A) UTetetides a1
B) dieifaared soiitEs
C) seherse

D) e

Question Number : 43 Question Id : 5977431203 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Among the following,
M
e0 O O . MeO
/\)ci @/LL H @)L Me m O)L H
H O
| Il n v v

the compounds which can be reduced with formaldehyde and conc. aq. KOH, are:

A) only ITand V

B) only Tand V

C) only IT and IIT
D) only L. IT and IV

Question Number : 43 Question Id : 5977431203 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



MeO O 0 . e
0 H Me H
/‘\)J\H o]
1 1 n v v

Tord 21T o FHTSEss UH W1 Sidll KOH o |12 S1aehd (39r=) foram < wen &

A) FEANTEV
B) A ITd V

C) et 11T I
D) #ad L 11T IV

Question Number : 44 Question Id : 5977431204 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

An organic compound that is commonly used for sanitizing surfaces is:

A) acetylsalicylic acid
B) chloramphenicol
C) aspartame

D) cetyltrimethyl ammonium bromide

Question Number : 44 Question Id : 5977431204 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

FHTsiTeh A7k ST ATEROIT: Tel ol W= S (QeTg=n) F ST foh < &

A) TS dfetafersd e

B) aeiirhiaier

C) wmren

D) wfed greuiee smiiam AimEs

Question Number : 45 Question Id : 5977431205 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



The rates of reaction of NaOH with

s F
(5’“"2 @ jon
= “NO, F
1 Il I

follow the order:

A)II=1I=1II
B) I=II>1
C)I=IM>11
D) HII=II>1

Question Number : 45 Question Id : 5977431205 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

71 = A1 NaOH o s1fwfsrn <t
. F
@moz @ /@,Nm
e "NO, E o
| ] m
'Oh"l?l%pfﬁﬂ'q%

A) I=1=111

B) I=MI>1
) I=11=11
D) MI>1>1

Question Number : 46 Question Id : 5977431206 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The most suitable reagent for the conversion of 2-phenvlpropanamide into 1-phenylethylamine is:

A) H,. Pd/C

B) Br,. NaOH

C) LiAlH,. Et,0
D) NaBH,. MeOH



Question Number : 46 Question Id : 5977431206 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

2T WIUATIIEE T 1- Hie U Ui o aitEd o foTe Terl S0 Siva® & -

A) Hz. Pd/C
B) B1‘2. NaOH
C) LiAlH,, Etzo

D) NaBH,, MeOH

Question Number : 47 Question Id : 5977431207 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The compound X in the following reaction scheme

acid [H] 2
-COzH X HsC™ “NH,

hydrolysis reduction

HsC

18

A) acetonitrile
B) methyl isocyanide
C) acetaldehyde

D) nitromethane

Question Number : 47 Question Id : 5977431207 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

acid H
H C"'GOzH X [ ] H%GANHE
. hydrolysis reduction

A) THiEFEZEA

B) Hfiet SsdEEARES
C) uwHiefoesrEe
D) rEgmHeA

Question Number : 48 Question Id : 5977431208 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



A nucleus X captures a p particle and then emits a neutron and y ray to form Y.

X and Y are:

A) isomorphs
B) isotopes
C) isobars

D) isotones

Question Number : 48 Question Id : 5977431208 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

IS AT X T siieT T ([3) T SAIE0T 9 Uah =g U 7T () 50T 3cfsid o Y sl 2. X
WY®:

A) WA (ST
B) TmE (2AEEie)
C) T (ST3EER)

D) W= (A1)

Question Number : 49 Question Id : 5977431209 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The boiling point (in °C) of 0.1 molal aqueous solution of CuSO, 5H,0 at 1 bar is closest to:
[Given: Ebullioscopic (molal boiling point elevation) constant of water, K» = 0.512 K Kg mol ]

A) 100.36
B) 99.64
C) 100.10
D) 99.90

Question Number : 49 Question Id : 5977431209 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



CuSO,*5H,0 % 0.1 HieTeT Sfeil foei &1 Uh IR (1 bar) 16 T aeleh (°C H) o Ai~ihe & :

[ T T €: STt T S Tie (e aereish 3+1a) FRIaie < K, = 0.512 K Ke mol™']

A) 100.36
B} 99.64
C) 100.10
D) 99.90

Question Number : 50 Question Id : 5977431210 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A weak acid is titrated with a weak base. Consider the following statements regarding the pH of the

solution at the equivalence point:

(1) pH depends on the concentration of acid and base.

(ii) pH is independent of the concentration of acid and base.
(ii1)  pH depends on the pKj; of acid and pKy, of base.

(iv)  pH is independent of the p&j; of acid and p&y, of base.

The correct statements are:

A) only (i) and (iii)
B) only (i) and (iv)
C) only (i1} and (ii1)
D) only (ii) and (iv)

Question Number : 50 Question Id : 5977431210 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



T geiel S0 1 STHHIH Teheil gaiet &TReh o W fohr ST &, T fsig T e & pH &
el o {-pifehd e O T i,

(i) pH 70 UF &R % @50 W et ar 2.

(i)  pH 37T Ud &R & a0 8 W& .

(i)  pH 3T pK, T& G & pK, TR a2,
(iv)  pH 3T pK, U5 &R & pK, T &,

FEPIEH?FT%

A) HFe (i) T (iii)
B) & (i) T (iv)
C) A (ii) T (iii)
D) e (ii) T (iv)

Question Number : 51 Question Id : 5977431211 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Products are favored in a chemical reaction taking place at a constant temperature and pressure.

Consider the following statements:

(1) The change in Gibbs energy for the reaction is negative.
(1i) The total change in Gibbs energy for the reaction and the surroundings is negative.
(iii)  The change in entropy for the reaction is positive.

(iv)  The total change in entropy for the reaction and the surroundings is positive.
The statements which are ALWAY'S true are:

A) only (i) and (1ii)
B) only (i) and (iv)
C) only (ii) and (iv)
D) only (i1) and (iii)

Question Number : 51 Question Id : 5977431211 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



T AT U ST W Bl T AT § 3 a1 B
F=TifeRd Tl T foER =

(i)  zifvihan & fo fisa 3=t Fomers 2.

(ii)  sTraism Oe T o et e 3=t o aiEd oo e,
(iii)  sifvforar 6 wgidt o aftad erers &

(iv)  eTfifma oo afesr &1 e G2 i uiEd e .

I YA 1 EHI T &

A) Tae ()T (iii)
B) #ad (i) T (iv)
C) &ad (ii) T (iv)
D) A (ii) T (iii)

Question Number : 52 Question Id : 5977431212 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A mixture of toluene and benzene forms a nearly ideal solution. Assume P;’3 and P"T to be the vapor

pressures of pure benzene and toluene, respectively. The slope of the line obtained by plotting the total

vapor pressure to the mole fraction of benzene is:

A) Py -P;
B) P} - Pj
- o (o]
C) P§ +PS

D) (P§ +P3)2

Question Number : 52 Question Id : 5977431212 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



A3 T S~ o ST ST U STIE! foIefz ST €. 8 s U 2Tefg o aToaTsl shae: P 0
P I o  fEpAOT o et TSI 6 sl o Hiet 191 o Al STfad #  fedl T 1 g1el (3ai) 2

A) P‘; -p°
B) P° —P°
T B
o) B P
D) [P‘E’L +P°)/2

Question Number : 53 Question Id : 5977431213 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Upon dipping a copper rod. the aqueous solution of the salt that can furn blue is:

A) Ca(NO,),
B) Mg(NO,),
C) Zn(NO,),
D) AgNO,

Question Number : 53 Question Id : 5977431213 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T 1T i1 ST =i T o B e TR el & el 87

A) Ca(NO,),
B) Mg(NO,),
C) Zn(NO,),

D) AgNO,

Question Number : 54 Question Id : 5977431214 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Treatment of alkaline KMnO b solution with KI solution oxidizes iodide to:

A) L

B) 10,
C) 10,
D) 10,



Question Number : 54 Question Id : 5977431214 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

&R KMnO, 31 TS K1 3 faem @ sifuforn s steierss =i foras stadisa san s 2

Question Number : 55 Question Id : 5977431215 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

If an extra electron is added to the hypothetical molecule C,. this extra electron will occupy the

molecular orbital:

A)
B) Ty
C) o,
D) g,

Question Number : 55 Question Id : 5977431215 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

FIAE C, 310 H U AT Feragi ST a1 8. 748 SAfdieh seiagid [ 1ioa sifdea &
ST T 2

Question Number : 56 Question Id : 5977431216 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



Among the following, the square planar geometry is exhibited by:

A) cdc>
B) Zn(CN),*
C) PdCl,*
D) Cu(CN),*-

Question Number : 56 Question Id : 5977431216 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

fifend o @ feraeh ot wmaa =anfafa g 2

A) Cdcl*>
B) Zn(CN)*
C) PdCl*”

D) Cu(CN)"

Question Number : 57 Question Id : 5977431217 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The correct pair of orbitals involved in m-bonding between metal and CO in metal carbonyl

complexes is:

&

A) metal .:?'IJ: and carbonyl

B) metal d',g: and carbonyl
*
C) metal d ; > and carbonyl
D) metal d,_, and carbonyl n_

Question Number : 57 Question Id : 5977431217 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

1T SHaTe 3 €1 U CO o #ff yu-are  ffea siifelea @ o e &

A) g d T et
B) ®1dd_ W i i
C) g d. . T T
D) a1 d,_, T it 1T

=y



Question Number : 58 Question Id : 5977431218 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The magnetic moment (in pg) of [Ni(dimethylglyxoimate),] complex is closest to:

A) 537
B) 0.00
3 173
D) 2.25

Question Number : 58 Question Id : 5977431218 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

[Ni(STEHEIET TR ] Hehet o1 riehizrameol (W ¥ ) % @f~iehe &

Question Number : 59 Question Id : 5977431219 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

A compound is formed by two elements M and N. Element N forms hexagonal closed pack array with

2/3 of the octahedral holes occupied by M. The formula of the compound is:

A) M)N,
B) M)N,
C) M,N,
D) M,N,

Question Number : 59 Question Id : 5977431219 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

U Aifies < dedi M U N ¥ o1 2. 9 N, QPRF-EH‘IUi OREICEA H‘@ﬁfﬁﬁ AT (hexagonal closed pack
array) STl 2 Toraeh s19mershia ftiRat (octahedral holes) &1 2/3 9T H M 2. Fifieh EFHE%

A) M\N

4 3
B) M,N,
C) MN,

D) M,N,



Question Number : 60 Question Id : 5977431220 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

If the velocity of the revolving electron of He™ in the first orbit (7 = 1) is v. the velocity of the electron

in the second orbit is:

A) v
B) 0.5v
C) 2v
D) 0.25v

Question Number : 60 Question Id : 5977431220 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

AT He™ o W 3ifele (n = 1) T a0 1e & ool &1 o v &, @ facdia siifde 4 saaem #r o 2:

Ay v

B) 0.5v

C) 2v

D) 0.25v

Part I Biology

Section Id : 59774392
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774392

Question Number : 61 Question Id : 5977431221 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Species with high fecundity. high growth rates, and small body sizes are typically

A) endangered species
B) keystone species
C) K-selected species
D) r-selected species

Question Number : 61 Question Id : 5977431221 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



T SR, = Afg-aX 3TR BT FIfh SRR arett Wt Wr: 2 2,

A) "I (endangered) TSI
B) =M (keystone) SSiIld

C) K= g

D) r-=f-d =1t

Question Number : 62 Question Id : 5977431222 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

When RNase enzyme is denatured by adding urea. which ONE of the following combinations of

bonds would be disrupted?

A) Tonic and disulphide bonds
B) Tonic and hydrogen bonds

C) Hydrogen and peptide bonds
D) Peptide and disulphide bonds

Question Number : 62 Question Id : 5977431222 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

RNase USIT2H ol AT STa faraetichal foham 7T, Ffetfiae o o for aieli o1 S i &

A) 3T 3R SHE-UTHES oY
B) 3T 1R SEgi=H &

C) BEEISH TR U2TEE &

D) UCTEE 31 SI3-UcHIZS ol

Question Number : 63 Question Id : 5977431223 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The function of aposematic colouration is to

A) attract mates.

B) camouflage.

C) scare off competitors.
D) warn predators.

Question Number : 63 Question Id : 5977431223 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



g gsnarsE HA9Y=H {5 (aposematic colouration) F8?

A) el T ST FAT
B) &= (camouflage)
C) wicreafei it sTHT

D) TfE &l <ITa &t

Question Number : 64 Question Id : 5977431224 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
Maize and rice genomes have diploid chromosome number of 20 and 24, respectively. In the absence
of crossing over and mutations. which ONE of the following is CORRECT about the genetic

variation among their offspring?

A) maize < rice
B) maize =rice >0
C) maize =rice =0
D) maize > rice

Question Number : 64 Question Id : 5977431224 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

TeRRT SR =Teret o {9 H TGO TOREAT =61 ST SheT: 20 7R 24 ©. TG ST 3R a1 o 3791e 1 et
e o are S At ST fafiaret & v g fre 8 g e o fower w@r e

A) Heehl < H1de
B) HdhlI =HHbeT = 0
C) Hahl = =HFed= 0
D) Hefehl = =T9e

Question Number : 65 Question Id : 5977431225 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The exponent 7 of the species-area curve measured at continental scales is

A) smaller than the value of 7 at regional scales.
B) equal to the value of 7 at regional scales.

C) greater than the value of = at regional scales.
D) unrelated to the value of 7 at regional scales.

Question Number : 65 Question Id : 5977431225 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25



Question Label : MCQ
TETEIT T 9 H1Y 7T F=I110a1 TR &%l o osh | =idich Z 1 91

INEEIREIE P ek 2

B) &1 Tl % ; OH o Tal 2.

C) & TR % L oF S 2.

D) &5 TR o £ T ¥ Tafed T8 2.

Question Number : 66 Question Id : 5977431226 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

The pH of an aqueous solution of 10° M HCl is

A) 6.0
B) between 6.9-7.0
C) between 7.0-7.1
D) 8.0

Question Number : 66 Question Id : 5977431226 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

108 M HC1 o U il faer &1 pH =1 5 a9 angmm?

A)6.0
B) 6.9 ¥ 7.0 % e
C)7.0¥7.1F T
D) 8.0

Question Number : 67 Question Id : 5977431227 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Which ONE of the following can NOT cause eutrophication of lakes?

A) Introduction of invasive floating plants

B) Discharge of fertilizer-rich agricultural waste
C) Natural ageing of lakes

D) Discharge of industrial waste

Question Number : 67 Question Id : 5977431227 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



g sa U EIGE ?Eg‘?lT'ﬂUT (eutrophication) ﬁ T el 22

A) SITERTH WATHT (invasive floating) Tl a1 FawT.
B) 3R H T Gcet STIMTE (waste) T L.

C) e = Tl AT = =g,
D) 3Teifies 31aSTe 2Rt foe .

Question Number : 68 Question Id : 5977431228 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Which ONE of the following polymerases transcribes 58S rRNA?

A) RNA Pol I

B) RNA Pol III
C) RNA Pol II
D) RNA Pol IV

Question Number : 68 Question Id : 5977431228 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

7 7 2 I T RNA T 5S rRNA T STCRE el 22

A)RNA Pol 1
B) RNA Pol 111
C) RNA Pol 11
D) RNA Pol IV

Question Number : 69 Question Id : 5977431229 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Which ONE of the following statements about rennin is CORRECT?

A) Tt is secreted by adrenal glands.
B) It converts angiotensinogen to angiotensin.
C) It is secreted by peptic cells of gastric glands into the stomach.

D) Tt is a hormone.

Question Number : 69 Question Id : 5977431229 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



I (rennin) % T o Freferfaa o @ #F @ E wE 22

A) TE STTeEa U § |1iad el €.

B) T Uil fT=H o Ufsarefar o uftafda & 2.

C) T8 ST i T3 Tforri i uftesh ifererrett gry & erar &,
D) I8 T S €.

Question Number : 70 Question Id : 5977431230 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
When one goes from a brightly lit area to a dimly lit room our eyes adjusts slowly. thereby
regaining the clarity of vision. Which ONE of the following explains this process?

A) Regeneration of rhodopsin in the rod cells
B) Bleaching of thodopsin

C) Constriction of the pupil

D) Increase in the number of rod cells

Question Number : 70 Question Id : 5977431230 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

el B U YT WARTTSTCT &7 & 6 TeRTe STeIhR ATl AL H S & af So aTid Hit-efit e fasra ofe i erwar ww
et . Ffatad o o F T Tueht SIme R 22

A) STCITeHT IRt o Rhodopsin =T ITe=29 (regeneration)
B) Rhodopsin T [@=H (bleaching)

C) et 1 Hepe=r
D) SICTTeHT HIRTHTT i T 4 dfg

Question Number : 71 Question Id : 5977431231 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ
In a diploid population at Hardy-Weinberg equilibrium, consider a locus with two alleles. The
frequencies of these two alleles are denoted by p and q. respectively. Heterozygosity in this

population is maximum at

A} p=025, g=10.75
B) p=04, ¢g=0.6
C) p=06, g=04
D) p=05, ¢g=05

Question Number : 71 Question Id : 5977431231 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

g1t it A awid g Uk fEfora STaret i e i e o < feig W a1 stefiea 2. 3 stefial & st
T p ST g H 90 T &, 0 o 4 o gen o 39 STedt - fawpsian siteends g

A)p=0.25, g=0.75
Bjp=04, g=06
C)p=006, g=04
D)yp=05 g=0.5

Question Number : 72 Question Id : 5977431232 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

An enzyme with optimal activity at pH 2.0 and 37°C is most likely to be

A) lysozyme from hen egg white

B) trypsin from cattle
C) DNA polymerase from Thermuis aquaticiis

D) pepsin from humans

Question Number : 72 Question Id : 5977431232 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

37 "C 31 pH 2.0 W Fr=1 5 @ T Uiree <t Tpamefierar srofiwam gifre

A) Tl % 310Ei i A T U T

B) Tafymt @ v i
C) Thermus aquaticus T 9T DNA Giefiies
D) T & 9T Uit

Question Number : 73 Question Id : 5977431233 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

While adjusting to varying environmental temperature. plants incorporate in their plasma membrane

A) more saturated fatty acids in cold and more unsaturated fatty acids in hot environment.
B) more unsaturated fatty acids in cold and more saturated fatty acids in hot environment.
C) more saturated fatty acids in both cold and hot environment.

D) more unsaturated fatty acids in both cold and hot environment.

Question Number : 73 Question Id : 5977431233 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

ST el AT QIH o Seeal ¥ STl (931 & i 38 SR of 3791 WA=AT Seet! 3 a1 Ainid 7 82

A) 30 FTATER0T H TS TH T ST STR T8 ITaTe€oT 5 SA7aT SRy J6 ST
B) 3V ATATER0T T SATET ST SE ST0e 11 T STarae T ST Sy ST 21
C) 0% TR T A1 &1 ATaTERoT H SATeT HaH T 7.

D) 3% TR T 1 & ATATaR0T H STaT SRIqH T 37,

Question Number : 74 Question Id : 5977431234 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Which ONE of the following terms is NOT used while describing human vertebra?

A) Lumbar
B) Sacral
C) Thoracic
D) Tarsal

Question Number : 74 Question Id : 5977431234 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

T ot REReRTAT ol TSR ahcd a4 foe SreaTaret 1 STRIRT 74 e 27

A) FiE (Lumbar)
B) T (Sacral)

C) &I (Thoracic)
D) € (Tarsal)

Question Number : 75 Question Id : 5977431235 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Assume a population that has reached herd immunity for an infectious disease. If an
infected individual is infroduced to this population. which of the following is most likely to occur?

A) The infection will spread exponentially across the population.
B) The infection will spread linearly across the population.

C) A few individuals may get infected. but the infection will not spread across the population.
D) No other individual will be infected by the disease.

Question Number : 75 Question Id : 5977431235 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

U‘Eﬁt{vﬁ mﬁaﬁrwaﬁmmﬁmﬁw—aﬁﬁm%maﬂwm (herd immunity) i WHHQEHTEE%
g 3@ SETET T U Weh T T8 ol WeST ShET STl & f 0T 5 3 91 B ohl @TeT e 21fee 62

A) HSRHY, |1 (exponential) T & T STTETET 7 et STQL.

B) HERHYT, T&H (linear) &9 H T4 STTETET 1 thel Q.

C) % SR ART HehiHTa & Wl & R HeHHOT T STl H 61 et
D) 11 1S ¥t 3 s & Tl e e,

Question Number : 76 Question Id : 5977431236 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Match the type of cells in Column I with the organs they are part of, listed in  Column IT

Column I Column IT
P. Chondroblast 1. Bone

Q. Osteoclast ii. Brain

R. Microglia 1ii. Cartilage
S. Pneumocyte 1v. Lung

Choose the CORRECT combination.

A) P-iii, Q-i, R-ii, S-iv
B) P-ii, Q-i, R-iii, S-iv
C) P-iv, Q-iii, R-ii, S-i
D) P-iii, Q-ii. R-iv. S-i

Question Number : 76 Question Id : 5977431236 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



TP (column) 1 ¥ IUFET HISTHTS o6 SR ol T 115 3 37711 foiam 2 feen & & g fifsm)

Column I
P. HISTEETRT
o. s
R. HTEshiferar

EHEIEEE) == =hif=Tu)

A)P-iil,Q-1,R-ii,S-1iv
B) P-ii,Q-i, R-iii, S—iv

C) P-iv,Q-iii, R-1ii, S-1i
D)P-iii. Q-ii,R-iv,S-1i

Column I1
i. ZiE
ii, TR
ifi. FTiEr
iv. ﬁ?‘ih_é[

Question Number : 77 Question Id : 5977431237 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

A bacterial culture was started with an inoculum of 10 cells. What will be the number of cells at the
end of 10 cycles of division. assuming that every progeny cell undergoes division in each cycle?

A) 100

B) 1024
C) 2048
D) 10240

Question Number : 77 Question Id : 5977431237 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ

e STV ST 6l SR S 26l 10 FHITSeRiAl 4 =6 TS, Uar A1 8¢ fof @il Wi HieTehid Seie =1 4 ferdiior &1

W e, Iaad o 10 A 9 % I TRt Fifsmep grfo

A) 100
B) 1024
C) 2048
D) 10240

Question Number : 78 Question Id : 5977431238 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Question Label : MCQ



The following family tree traces the occurrence of a rare genetic disease. The filled symbols signify

the individuals with the disease, whereas the open symbols signify healthy individuals.

0

.

5

Based on this information, the disease is most likely to be

A) autosomal, dominant
B) autosomal. recessive
C) X-linked, recessive
D) X-inked. dominant

Question Number : 78 Question Id : 5977431238 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

=1 TSI TR STl J& U Gere S ST oh B F0 T €. 9 5T Sdish ST SAfsai ohi Siich feh Fefieh Toe

A5 ol G #Rd ©.

e —

.

T SFHIT & FTIR R I8 s Ty

A) AT TORET, TR TR 2.
B) STl TURET, ST ST 2.
C) X-HegeH, 37 T 2.
D) X-Gger, 3T T €.

g

Question Number : 79 Question Id : 5977431239 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ



Which ONE of the following statements is CORRECT about the mechanism of action of penicillin?

A) It inhibits transcription

B) It hydrolyses cell wall

C) Tt inhibits cell wall biosynthesis
D) It inhibits translation

Question Number : 79 Question Id : 5977431239 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

e o 1 i e vl i Benfatr & R g e e

A) T8 ST I T .

B) & hifsreht T¥fe T Tet- 310w o 2.

C) 78 HITSTeRT Tt o SE-g=guor i ffed Far e,
D) T8 TAFIHIT (translation) e aar 2.

Question Number : 80 Question Id : 5977431240 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

Leaf extract from an infected plant was passed through a filter with a pore size of 0.05 pm diameter.
The infectious agent was detected in the filtrate. Which ONE of the following is the likely infectious

agent?

A) Bacteria
B) Virus

C) Nematode
D) Fungus

Question Number : 80 Question Id : 5977431240 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0.25
Question Label : MCQ

fopeft aiter <t Fenfta o=t ¥ AR 0.05 pum = o 355 16l U S 9 B 8. huvl-si 8T (filtrate) T arT
TN, T USHHYT-hRE T W i | 82

A) Sffamy

B) farmoy
c) fers
D) &

Part II Mathematics



Section Id : 59774393

Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774393

Question Number : 81 Question Id : 5977431241 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Let
200 n
2 .
g — —
k!
n=101 k=101
and
b 2201 _ 211
T i
1!
n=101

i SR
Theng is

A)
B)
)
D)

RW Ry N W

Question Number : 81 Question Id : 5977431241 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



]
=]
=]

n=101

A) 1
3
B) -
2
G 2
5
D) -
2

Question Number : 82 Question Id : 5977431242 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Let a, b, ¢ be non-zero real roots of the equation x*+ax?+ bx + ¢ = 0. Then

A) there are infinitely many such triples a, b, ¢
B) there is exactly one such triple a, b, ¢

C) there are exactly two such triples a, b, ¢

D) there are exactly three such triples a, b, ¢

Question Number : 82 Question Id : 5977431242 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

oM % a, b, c @i x3 + ax? + bx + ¢ = 0 %1 3T Tredies g 8. 7

A) ¥ %3 u" B (triples) a, b, c ®.
B) @dich Uk of uan & (triples) a, b, c ®.
C) W@ﬁﬁﬁﬁ(triples) ﬂ:,b,C%.
D) W@?ﬂ:{ﬁﬁﬁ(triples} a, b,C%.

Question Number : 83 Question Id : 5977431243 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



Let f(x) =sinx + (x® — 3x2 + 4x — 2) cos x for x € (0, 1). Consider the following statements
I. fhasazeroin (0,1)
IT. f is monotone in (0, 1)

Then

A) Tand II are true

B) Tis true and IT is false
C) Iis false and IT is true
D) Tand IT are false

Question Number : 83 Question Id : 5977431243 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

x € (0,1) wfg,ame f(x) = sinx + (x3 —3x% +4x —2) cos x.
= Tl W R

L(0,1)%f y=&.
11 (0, 1) d f ¥ (monotone) .

GEl
A) 1T [[ R 2.
B) 19Ele 3R I Ted &.
C) 17Ted & R 11 T 2.

D) 1 3 11 gH1 7o €.

Question Number : 84 Question Id : 5977431244 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Let A be a set consisting of 10 elements. The number of non-empty relations from A to A that are

reflexive but not symunetric is

A) 289 — 1
B) 289 - 245
) N
D) 29{] . 245

Question Number : 84 Question Id : 5977431244 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



T A, 10 srEat o o a==a 8. A 9 A 7 stfafch et i GEAn S @ (reflexive) & T @it
(symmetric) &l 2, Terat grfro

xy 2%
B) 289_245
6 g

D) 290 - 245

Question Number : 85 Question Id : 5977431245 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

In a triangle ABC. the angle bisector BD of 2B intersects AC in D. Suppose BC = 2,CD =1 and

BD = % The perimeter of the triangle ABC 1s
W

A) —
B)
C)y —
(B )

Question Number : 85 Question Id : 5977431245 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

frast ABC & 2B o faws BD, AC %t D % siesifeq ar 2. @i BC = 2,CD = 1@ BD =
%.WABCWW%.

17
A) —
2
15
B) —
2
17
C) —
4
15
D) —
4

Question Number : 86 Question Id : 5977431246 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



Let I be the set of natural numbers. For n € [. define
f” x sin?"(x)

= - —dx.
" sin?™(x) + cos?™(x) -

Then for m,n € N

A) L, < I, forallm < n
B) L, = I, forallm < n
C) L, =1I,forallm +n
D) L, < I, forsome m < nand I, > I, forsome m <n

Question Number : 86 Question Id : 5977431246 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

T & o N st st J ag== €. n € N & fag

T x sin®™(x)
I’H e
0

sin*™(x) + cos™(x)

EIRITGIEGE TS

Tm,n € N&fau

A) I, < Iy@fim < n&fag
B) I, > I, ®™im < n&fag
) I, =1, @im+ n&fag
D) Im < I, 3@ m < n&fausikl, >, F8m < nFfag

Question Number : 87 Question Id : 5977431247 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

For 8 € [0, m]. let f(8) = sin(cos ) and g(6) = cos(sinf). Let
a= max f(8).b = min f(8).c= max g(f8)and d = min g(@).
0=08<m 0=0=m 0=0=m 0=B=m

The correct inequalities satisfied by a, b, ¢, d are

Alb<d<c<a
Bld<b<a<c
O b<d<ac<c
Db<a<d<c



Question Number : 87 Question Id : 5977431247 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

0 € [0, ] Ffaw, ams f(0) = sin(cos 8) @@ g(6) = cos(sin 8).
IHd a = Oryeai;gr[f(&). b= Jnin f(@).c = Jnax g(@)skd= Jnin g(6).

a, b, c, d FRHTY FE EHATC &

Mb<d<c<a
Brd<b<a<g
cub<d<a<r
m b<=a<d<it

Question Number : 88 Question Id : 5977431248 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ
Six consecutive sides of an equiangular octagon are 6,9,8, 7,10, 5 in that order. The integer

nearest to the sum of the remaining two sides is

A) 17
B) 18
C) 19
D) 20

Question Number : 88 Question Id : 5977431248 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

foret e 218 Toih (equiangular octagon) % 6 FATTA ﬂ\)\ﬁlﬂ' 6,9,8,7,10,5 HEATE, G?IET*JJ_TIT\?rﬁ
o FT 20T e T € .

A) 17
B) 18
C) 19
D) 20

Question Number : 89 Question Id : 5977431249 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



The value of the integral

j\,’iﬂ = P '] :
———x
1 > +1) V1 +x*

is

" T
‘A) ﬁ
" m
B) 1242
|
©) e
. T
Vs

Question Number : 89 Question Id : 5977431249 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

..ﬁ+1(x2—1) 1
FHTRH — | —dx
Jl x2+1) vi+x?
FAAR
A T
B 0
] 1242
b
] 82
D T
k- T

Question Number : 90 Question Id : 5977431250 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Leta = BC,b = CA,c = AB be the side lengths of a triangle ABC. and m be the length of the
median through A. If @« = 8,b — ¢ = 2, m = 6, then the nearest integer to b is

A) 7
B) 8
) 9
D) 10

Question Number : 90 Question Id : 5977431250 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



mAefEa = BC,b = CAt ¢ = ABfft e ABC % vat fravars 2. A 48 gu ez
(median]ﬁﬂﬁlﬁ me.afg a = a.b—k=2m— ﬁ,ﬂ?{bﬂﬂﬁﬁﬁdﬂ'ﬂf‘fﬁﬂi%z

Ay 7

B) 8

C) 9

D) 10

Part II Physics

Section Id : 59774394
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774394

Question Number : 91 Question Id : 5977431251 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

A camera filled with a polarizer is placed on a mountain, in a manner to record only the reflected image
of the sun from the surface of a sea as shown in the figure. If the sun rises at 6.00 AM and sets at 6.00
PM during the summer. then at what time in the afternoon will the recorded image have the lowest
intensity, assuming there are no clouds and intensity of the sun at the sea surface is constant thronghout
the day? (Refractive index of water = 1.33)

Z:j Gamera
N\

West«———>East

Sea

A) 12.32PM
B) 3.32PM
C) 5.00 PM
D) 6.00 PM

Question Number : 91 Question Id : 5977431251 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



TR, 519 (polarizer) ¥ ¥RT €311 U 101 Tl TETS T 30 YR TaT 8311 € o o5 @z i ade o 9 o ol
et et a0t &1 e oL, Jfe 7o g § 16T 6.00 AM R ST AR 6.00 PM R T & i arve 7 o @
@S 1 18 wicifsrear i disar =Aan grft? (T i o6 ared T8 € SR o o i ade W i disar iEnE
&t & 371 STe o1 STaiE= 1.33 8.)

Q Camera
A

West €——>East

Sea

A) 1232 PM
B) 3.32 PM
C) 5.00PM
D) 6.00 PM

Question Number : 92 Question Id : 5977431252 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Suppose a long rectangular loop of width w is moving along the x-direction with its left arm in a
magnetic field perpendicular to the plane of the loop (see figure). The resistance of the loop is zero
and it has an inductance L. At time, t=0. its left arm passes the origin. O.

.

It for t =0, the current in the loop is I and the distance of its left arm from the origin is x, then I versus

kS B
F. s
x »
4 4
E k3
=]
= =
x E4
] »
5 b4
14
- = =

x graph will be

A) B) C) D)
I I | |

-/

Question Number : 92 Question Id : 5977431252 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



TEATTER, w=ITSTS =Tt x-Tou o S U @l STRITeHR U1 2hl el 2hii=1 [oRaehl il i1 UR =afehi & o
& ST 9T o T o I €. I ol Wi 91T € S SEs U S L ol . 9 =0 W geeh! Sei oS g g (x=0,

y=0) T TR &.

XX KX XM x x x x t
0 X ] v
XX X X X M XK XX 4

71fe 20 o forg, TeT 5 oy 12 SR e 4 36k Ari = o gl x 2 A1 1 3R x o e e STerd e 6 A g

A) B) C) D)
| | I —/ I ‘
_— X X X

Question Number : 93 Question Id : 5977431253 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Imagine a world where free magnetic charges exist. In this world. a circuit is made with a U shape
wire and a rod free to slide on it. A current carried by free magnetic charges can flow in the circuit.
When the circuit is placed in a uniform electric field. E perpendicular to the plane of the circuit and
the rod is pulled to the right with a constant speed v, the “magnetic EMF” in the cwrent and the
direction of the corresponding current. arising because of changing electric flux will be (7 is the length

of the rod and ¢ is speed of light).

A) vE] clockwise.
B) vEL counterclockwise.

vEL :
C) — clockwise.
c2
El i
D) I;—z counterclockwise.
Question Number : 93 Question Id : 5977431253 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



TS U ST ol o1 hifSTT STt Tk Jrarehia ST UTT ST &. 36 ST 5 U ST o U T 311 86 o o8 7w U
O Tl wfer a1 foior fefm wram €. A bt Sl gRI ATfed O SR 3 IRee o8 e 8. 36 9 i
ey o T o e STTer TRl U AR &R E H T ST @ ST 397 i aTE ST e e =t & e s 2,
39 <9 4 aREfdd el §3 S Tt o HRol I SR o Eehid JEd JTeeh Sl “magnetic EMF” $IR AT €T
(corresponding current) fam fe o 3 = ¥t et (7 oT i TS AT ¢ e ol =1 €)

A) vEl SieqoTadt,
B) vEL STHTE.
vEl .

C) - afeomartf

vEL
D) —— STHTEL.
Cz

Question Number : 94 Question Id : 5977431254 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ
The box in the circuit below has two inputs marked v+ and v. and a single output marked V,. The

output obeys

+H10V ifva>v.
Vo=
-10V ifve<wv.

The output Vo of this circuit a long time after it is switched on is best represented by

A) B)
L)
ST 10V /\ //‘\
t
t \(
10V
-0V

) b))
Yo

+10 Y
v 2N N
:\:‘:\: Nt
5y : -10\4’/

Question Number : 94 Question Id : 5977431254 Question Type : MCQ Is Question Mandatory : No




Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

iy uftre o e o ser o a1 FE e v, TR v, STt shae ua i T v, Fafrea =, 2de e v Feer e
T UTeH AT 2.

+10V ifv,>v.
\i?o:
-0V ifve<v

T IR I Y6 FA o aIgd W a1 Ui o i fada v, F ae e ' 4 o ot d Fefua e mn

A) B)

Vi

10V
+0V i /\ /\
t \( \
—10\."

-0V
C) D)
Vi
+10 W
& /\ /\
/ ™
t
Y 10V

Question Number : 95 Question Id : 5977431255 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ



A bottle has a thin nozzle on top. It is filled with water, held horizontally at a height of 1m and squeezed
slowly by hands so that the water jet coming out of the nozzle hits the ground at a distance of 2m. If
the area over which the hands squeeze it is 10 em?. the force applied by hand is close to (take g = 10
m/s? and density of water =1000 kg/m?)

A) 20 N.
B) 10N.
C) 5N.

D) 2.5N.

Question Number : 95 Question Id : 5977431255 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Teh il & 94 1 U el (65 2. e aad Hl T d M iEm a1 2 3R a2 d | mA S waffs femd @
121§ i ¥ T S @ feh Teom @ Tkt o Al <hi eIR @ide W 2 m o6l ol O FRelt @, Af sfiet o &g W 10 em’®
&t ohi BT T ST TAT T O 8T U SF7TIT 71T sieq b {-iohe o™ AT hi- T 87 (g = 10 m/s® 37 91t =7 97 =1000
kg/m’ A1)

A) 20N.
B) 10N.
C) 5N

D) 25N

Question Number : 96 Question Id : 5977431256 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



The circular wire in figure below encircles solenoid in which the magnetic flux is increasing at a
constant rate out of the plane of the page.

=== == Path1

The clockwise emf around the circular loop is 0. By definition a voltammeter measures the voltage
. : : s Bb— o
difference between the two points given by Vip-Va=- fa E.ds. We assume that a and b are

infinitesimally close to each other. The values of V-V, along the path 1 and Va-Vp along the path 2.
respectively are

A) - gp. -£0.
B) -«0. 0.
C) - =0. g0
D) «=o. 0.

Question Number : 96 Question Id : 5977431256 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

FRITaR, U e AR (wire) TRATTCTER i EATe(e e & aReTfern o Frarhid vored U Fra Ry smm Haa
ATEX 2l ST =G TaT &.

AR A o UH: aferomerd fored aesh et €, 2. TR & S, Sieerdie, fou T el fager & 5eg dieed it
it it wlr V,-v,=- [ E.dS % SIER T 8. T ol 6 a 3 b Th-gat & i) e € T 1%
STET V-V, 3TR T 2 3 3967 V,-V, 3 TH F09: 152

. T A
B) - &,.0.
C) - & &
D) E,Ex

Question Number : 97 Question Id : 5977431257 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

A beam of neutrons performs circular motion of radius. ¥ = 1 m. under the influence of an
inhomogeneous magnetic field with inhomogeneity extending over A7 = 0.01 m. The speed of the
neutrons is 54 nv/s. The mass and magnetic moment of the neutrons respectively are 1.67x10%' kg and
9.67x102" J/T. The average variation of the magnetic field over Ar is approximately.

A) 05T.
B) 1.0T.
C) 50T
D) 10.0T.

Question Number : 97 Question Id : 5977431257 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

U STawii T & ekl STaHiTdT Ar=0.01 m @9 Shefl 8 % 9T H =121 61 O foor 41 = | m B areft
e it T T R €. =g bl A 54 ny's B, =gHI o FeTHH SR TR AT o W R 1.67x1077 ke
HR9.67x10%" J/T €. Ar R T=rehid & o S [9=1et (variation) &1 STTHTH HIA feherT T2

A) 05T
B) 1.OT.
O B |1
D) 10.0T.

Question Number : 98 Question Id : 5977431258 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ
A student is jogging on a straight path with the speed 5.4km per hour. Perpendicular to the path is kept
a pipe with its opening 8m from the road (see figure). Diameter of the pipe is 0.45m. At the other end
of the pipe is a speaker emitting sound of 1280 Hz towards the opening of the pipes. As the student
passes in front of the pipe. she hears the speaker sound for T seconds. T is in the range (Take speed of

sound. 320 m/s)
% —> 5.4 kmh
|

A) 6-12.
B) 12-18.
C) 3-6.

D) 18-22.



Question Number : 98 Question Id : 5977431258 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

T B 5.4 km T He i =T 9 U Hiel 72 0 HRid (jogging) AT €. FRITIRR, 30 w2 U 8 Hied W = ersera gl
T U AR T Hih R T ST 8. 34 AT AR 0.45m 2, AeAhl & gaL [ R 0 alet! avefl 37 @1 8 <10
AAfeAaT o e L 2l 31280 Hz #hi e FHahTe 121 2. S0 €1 ST 36 Alciehl o ArH { Tl €, 98 THHS o [ 34
T IeATiea ST 1 T I €. 72 JH o R fehaT 87 (23 61 =t 320 m/'s HH)

% —= 5.4 km/h
.
|

8m

|
A <

A} 6-12.
B) 12-18.
C) 3-6.

D) 18-22.

Question Number : 99 Question Id : 5977431259 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ
A solar cell is to be fabricated for efficient conversion of solar radiation to emf using material A. The
solar cell is to be mechanically protected with the help of a coating using material B. If the band gap
energy of materials A and B are Ea and Eg. respectively. then which of the following choices is
optimum for better performance of the solar cell.

A) Ep=15eV,Eg=5¢eV
B) EA=15eV.Eg=15eV
C) Ea=3eV,Eg=15eV
D) EA=0.5eV.,Eg=5¢eV

Question Number : 99 Question Id : 5977431259 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



Terel A 7T 3T A §T U AR Het i e © =i A fefnn i e e e o gaan  aiatda a1 A
A 2Rl AT et o4 o o aref B il STl @i &, 3fe TaTeil A 3 B 61 o8 31aUe (band gap) 31l 591 E,
T Eg & 01 30 G U % 310 YG¥H o 10 i ¥ Torehed i 39T STaead 82

A) E,=15eV,Eg=3eV
B) E.=1.5eV,Eg=1.5¢eV
C) E,=3eV,Ezg=15eV
D) E.=05eV,Eg=5¢eV

Question Number : 100 Question Id : 5977431260 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ

The “Kangri” is an earthen pot used to stay warm in Kashmir during the winter months. Assume that
the “Kangri” is spherical and of surface area 7x107 m?. It contains 300 g of a mixture of coal. wood
and leaves with calorific value of 30 kI/g (and provides heat with 10% efficiency). The surface
temperature of the ‘kangri” is 60 °C and the room temperature is 0 °C. Then. a reasonable estimate for
the duration t (in hours) that the ‘kangri’ heat will last is (take the ‘kangri’ to be a black body)

A) 8.
B) 10.
C) 12.
D) 16.

Question Number : 100 Question Id : 5977431260 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Y ¥t Tt 3 T e o o firet o6 U U e o ST feR ST 8. 6 fiforr foh <ahimer e
I S0 U8 & 7x 107 m?”. FHH 300 g FIel 1 A0, TTohs SR ieai & TSeht 3T 719 30 ki/g € 3R 10%
& o AT 3] G AT 2. TS % Has o ATHH 60 °C S FHHL o AHA 0 °C €, T alichh 335 % STHR
TSP T W ek (HI2( ) 35T &M hafl 2 (“SHTEr i el FHorH 7 S0

A) 8.

B) 10.

Cy 12

D) 16.

Part II Chemistry

Section Id : 59774395
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 59774395



Question Number : 101 Question Id : 5977431261 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

An organic compound X with molecular formula C,,H,, gives an optically active compound on

hydrogenation. Upon ozonolysis. X produces a mixture of compounds — P and Q. Compound P gives

a yellow precipitate when treated with L, and NaOH but does not reduce Tollens” reagent. Compound

Q does not give any yellow precipitate with I, and NaOH but gives Fehling’s test. The compound X

1s:
a) )%A
B) ph/%r\

C)  pp N

D) ph/%/

Question Number : 101 Question Id : 5977431261 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

T et AT X, ST0A C H | BTEgS-Iahon a2 T U G e ol Scqie el © S gavm
9T (optically active) 8. X 3T ST G T A1 P U Q 1 0T 301 BT 2. Jifeh P,
1, T NaOH o | UG {2 S T il STaaid ol & W 2icid S (Tollen’s reagent)

ol S el AT €. A Q, 1, T NaOH o W1l whis Tiefl STreid Tei <al & g Uhiei wlieror
(Fehling’s test) TaTe. A X T

) PhJW\
B) ph/mr\

C)  pp

D) Ph/%/

Question Number : 102 Question Id : 5977431262 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ




The following transformation

] 0
Q)\ — @5
CO,H

can be carried out in three steps. The reagents required for these three steps in their correct order. are:

A) (1) NaBH,: (i1) PCL: (ii1) anh. AICI,

B) (1) SOCL,: (i1) anh. AICL;: (iii) Zn(Hg)/HC1

C) (1) Zn(Hg)/HCI: (11) SOCL,: (111) anh. AICl,

D) (i) conc. H,SO,: (11) H,N-NH, 'H,0: (iii) KOH. ethylene glycol. A

Question Number : 102 Question Id : 5977431262 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Trraferfiae wita i =T 5 qui forer =i oend 2.

o o)
I, Q0
CO,H

I =ROT] 2T TR R o T, ST STl 1 el o6 9 &

A) (i) NaBH_; (ii) PCL_; (iii) (Ftet) anh. AlCI,
B) (i) SOClz; (ii) EE ,'-XICIB'. (iii) Zn(Hg)/HCI
C) (i) Zn(Hg)/HCI; (ii) SOCL; (iif) Fstet AlCI,
D) (i) = H_SO_; (i) H N-NH_+H_O: (i) KOH. Tfefiq =rhiet, A
Question Number : 103 Question Id : 5977431263 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



In the following reaction

(i) Oy, catalyst, heat OH
X + Y (CgH10)
(il) ag. acid
X and Y. respectively. are:
A) D—@OH and  _~_~CHO
» {OHh) m AOs
0 KD w Om

Question Number : 103 Question Id : 5977431263 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

eeriRe s

(i) O, catalyst, heat OH
X + Y (CgH4p0)
(ii} aq. acid

X Ud Y A 8

A) OH and Sy CHO

B) and //4‘\/0\/{%

OaVs
O~

o
O~

D) and

Question Number : 104 Question Id : 5977431264 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



A two-dimensional solid is made by alternating circles with radius @ and b such that the sides of the
circles touch. The packing fraction is defined as the ratio of the area under the circles to the area under

the rectangle with sides of length x and v.

1
- 1 1
= ! [l y a T
L W W !
I ‘ i )
" 4 " #
- . ) I P
1

_—

x=2at+2b

The ratio 7 = b/a for which the packing fraction is minimized is closest to:

A) 041
B) 1.0
C) 0.50
D) 0.32

Question Number : 104 Question Id : 5977431264 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

=41 @ W& b o T o1 Ui o6 T AT Ueh (oo™ 319 3 WehR s ST & fo 3t o F U
gﬁﬂ@ﬁﬁﬁ% T 319 (packing fraction) EHTGCT:!T% ofieR o &EAhe 2R x W y 3j}GITdPI'T are
STRI o &FATheT o ST o &9 3 TR o < .

y=2a

x=2a+2b
r=bla 1 T8 ST Toeh T T 3791 a9 2FT i1 &

A) 041
B) 1.0
C) 0.50
D) 0.32

Question Number : 105 Question Id : 5977431265 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



Consider a reaction that is first order in both directions

Ke

A B

Ky

Initially only A is present. and its concentration is Ay. Assume A; and A, are the concentrations of

A at time “f” and at equilibrium. respectively. The time “#” at which 4, = (Ao + Aeq) /2 1s:

in3)

S (kf+kp)
In(?)

B (kf—kp)
¥ . In 2

Eyes (kf + kp)
In 2

Bl e= (k5 — kp)

Question Number : 105 Question Id : 5977431265 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

feret safaferan ot foam o6l =i = feamat & wum wife 2.

Ky

A B

Ky

TR 3 heel A U & SR SHe |50 A g 8. 9 o {5 89 " U AnTEeE WA A6
o A, W Ay, Rawammer SR A, = (Ag + Aeq)/2%:

In(;)
(kf + kb)
In()
(kf—kp)

I
pire (kf-i- Rb)
In 2
(k5 —kp)

At =

B) L =
)
D)L=
Question Number : 106 Question Id : 5977431266 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



The reaction

Ca0 (s) + CO;(9)

CaC0Oj (s)

15 in equilibrium in a closed vessel at 298 K. The partial pressure (in atm) of CO, (g) in the reaction

vessel is closest to:

[Given: the change in Gibbs energies of formation at 298 K and 1 bar for
CaO (s) = —603.501 kJ mol-!
CO, (g) = —394.389 kI mol™!
CaCO; (s) =—1128.79 kI mol ™
Gas constant R = 8.314 T K-' mol]

A) 1.13x 1075
B) 0.95
C) 1.05
D) 8.79 x 102

Question Number : 106 Question Id : 5977431266 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

feifeRa wafafsram 208 K W e U9 § Orae | B,
CaCO; (s) === CaO(s) + CO;(g)

e qﬁ_ﬁcoztg]aﬂaﬁmaﬁ{atmﬁ}mm%i

[FGAT T 8: 298 K UF | bar T 712 o e 3911 9fta:
Ca0 (5) =—603.501 kJ mol™
CO, (g) =—394.389 kJ mol™
CaCO_(s)=—1128.79 kJ mol™
g frdis R = 8.314 1 K~ mol™]

A) 113107
B) 0.95
C) 1.05
D) 8.79 x 10®

Question Number : 107 Question Id : 5977431267 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

A container is divided into two compartments by a removable partition as shown below:

ny, Vy Ns, Vs
TP T, P
He Ne

L removable partition

In the first compartment. 7, moles of ideal gas He is present in a volume 7}. In the second compartment.
n, moles of ideal gas Ne is present in a volume V,. The temperature and pressure in both the

compartments are 7 and P, respectively. Assuming R is the gas constant. the total change in entropy
upon removing the partition when the gases mix irreversibly is:
Va

V.
A) iRIn——+n,RIn
Vy4Vs Vi 4V

Vy 4V vy
L2+ n,Rln——2

B) ;R 1In = =

nyVy

C) (n; +ny)R1n

leVQ

leVQ

D) (ny + ny)R1In

TIIV:_

Question Number : 107 Question Id : 5977431267 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



1S F0 U 8eH A7 =T (removable partition) 8T 1 el 1 e T 2, s e e
I E:

4, V1 Ma, V2
T, P T, P
He Ne

L removable partition

e e 3 SR T He 1 n Hiet ¥, ARG 3 39T . Tl et 7 31/ewl 19 Ne 1 o, Hied ¥,
S o 3uftyd 2. 2HT i &1 a7 UF 9" A9 TUT P 2. 1 i 5 R aE, T e
B W T o STV € 4 T 8F T T 5 3 TR g

Vi Vs

A) 4R In +n,R In
Vi+Vs Vi 4V,

Vy+V. V4V,
2+ n,RIn——=
Vi Va

B) n;RIn

niVy

¢) (ny +ny)RIn

nava

nzVz

D) (n; + nz)RIn

nV;

Question Number : 108 Question Id : 5977431268 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Number of stereoisomers possible for the octahedral complexes [Co(NH,),Cl;] and [Ni(en),ClL,].

respectively, are:
[en = 1.2-ethylenediamine]

A) 2and 4
B) 4and 3
C) 3and?2
D) 2and 3

Question Number : 108 Question Id : 5977431268 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



HTHETHIT Thel (octahedral complexes) [Co(NH,) C1.] & [Ni(en) Cl ] & for, Ffery ammaser

(stereoisomers) h! T THHIT: %

[en = 1.2-TfiefeTEud)

A) 279 4
B) 4143
C) 3W2
D) 2TH 3

Question Number : 109 Question Id : 5977431269 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

When a mixture of NaCl. K,Cr,0, and conc. H,SO, is heated in a dry test tube. a red vapor (X) is

evolved. This vapor (X) turns an aqueous solution of NaOH yellow due to the formation of Y.

X and Y, respectively, are:

A) CrCl; and Na,Cr,0,

B) CrCl; and Na,CrO,

C) CrO,Cl, and Na,CrO,
D) Cr,(SO,), and Na,Cr,0,

Question Number : 109 Question Id : 5977431269 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

T I T § NaCl, K_Cr 0, U % H SO, = Fiior ol T fohal STH T O effet a1 (X),
FheraT 8 . 98 9197 (X) NaOH & STeiid =ied &l Y =9 & oy el S ST 2.
X T Y SHUST: &

A) CrCl LG} Na Cr O
B) CrCl, T NaCrO,
C) C.‘rO2C12 g Nazf |\Cl4
D) Crzt 804)3 o Nazc:r_,o__.
Question Number : 110 Question Id : 5977431270 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



Sodium borohydride upon treatment with iodine produces a Lewis acid (X). which on heating with

ammonia produces a cyclic compound (Y) and a colorless gas (Z). X. Y and Z are:

A) X=BH; Y=BH,NH;:Z=N,
B) X=B,H.Y=BNH.Z=H,
C) X=B,Hg Y=BH:Z=H,

D) X=B,H:.Y=BNH:Z=N,

Question Number : 110 Question Id : 5977431270 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

e SRS SIS & a1 ST 262 ST W TR (Lewis) 37T (X) ST & <1 amifat
2 | T o ST RO b e (Y) U U O R (Z) SR X, Y W Z

A) X=BH_:Y=BH_NH_;Z=N
3 3 3 2
B) X=BH:Y=BNH:Z=H
2 6 3 3 6 2
C) X=BH:Y=BH;Z=H
2 6 6 6 2

D) X=BH:;Y=BNH_:.:Z=N
2% 336 2

Part II Biology
Section Id : 59774396
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 59774396

Question Number : 111 Question Id : 5977431271 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Which ONE of the following is the most likely ratio of blood groups (A : B : AB) among the
progeny from heterozygous parents with B and AB blood groups?

A) 05:025:0.25
B) 025:025:05
Cy 975:05-0725
D) 0:0.25:0.75

Question Number : 111 Question Id : 5977431271 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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B 3R AB Th-0HE [Tt fa =il b 6l @iafcrai = shHe: Th-HHE (A : B : AB) o el Tia Sl o wed 5 i
1 forerey |l &7

A) 0.5:0.25:0.25
B) 0.25:0.25:0.5
C) 0.25:0.5:0.25
D) 0:025:0.75

Question Number : 112 Question Id : 5977431272 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Match the plants in Column I with their features listed in Column IT, IIT & IV.

Column I Column IT Column III Column IV
Types of Types of Site of Time of stomata
plants photosynthesis Calvin cycle opening

Rice CAM Mesophyll Day

Pineapple C4 Bundle sheath Night
Sugarcane C3

Choose the CORRECT combination.

A) Rice-C3-Mesophyll-Day, Pineapple-C AM-Mesophyll-Night, Sugarcane-C4-Bundle sheath-
Day

B) Rice-C3-Mesophyll-Day. Pineapple-C AM-Mesophyll-Night, Sugarcane-C4-Mesophyll-Day

C) Rice-C4-Mesophyll-Day. Pineapple-C3-Bundlle sheath-Night, Sugarcane-CAM-Bundle
sheath-Day

D) Rice-CAM-Mesophyll-Day. Pineapple-CAM-Mesophyll-Day. Sugarcane-C4-Bundle sheath-
Day

Question Number : 112 Question Id : 5977431272 Question Type : MCQ Is Question Mandatory : No
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T 1 (Column 1) F&T TTe gteri a6t T 11, 111, 3R 1V 3 S0 T 37 A& H Foel Hifs,

Column 1 Column I1 Column II1 Column IV

el 1 SR EEINE:CL Hicad = T o Ee
EIRET S EAE ]

EIE CAM eI ShITSTeRT e

S C4 JeIT=aE TR q

5" C3

T STTIR T TET §ATSH 1 T 10,

A) FAEA-C3- AT HITH-, FHHE-CAM- T HITTH-, T-C4- TeT=ae HivTH-ie
B) HTae-C3- T HISTHI-TE, SHHE-C AM- T HISTehT-I0, T=T-C4- TeATqsh HI9eh-feT
C) FAA-C4- FeATqH HITH-TEH, SHHTE-C3- Teir=aa HiTH-0d, T=1-C AM- JT=se HifsTe-feT
D) =TEe-C AM- HEATTeh HI19ThT-1eH, SAFRI-CAM- HeAlqeh shiiTehT- (e, T1-C4- JelT=ae Hivwh-fe

Question Number : 113 Question Id : 5977431273 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ
A bacteriophage T2 particle contains within its head a double-stranded B-form DNA of molecular

weight 1.2 x 10® Da. Assume that the head of a T2 phage particle is of 210 nm in length and the average
molecular weight of a nucleotide is 330 Da. The length of the T2 genome is in the range of

A) 6x10°to6.4x10° nm
B) 40x10*to41x 10*nm
C) 1.8x10°to2x10° nm
D) 6x 10*to 6.4 x 10* nm

Question Number : 113 Question Id : 5977431273 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ

T STTETOT-1it T2 907 o ¥ @ o 1.2 x 10° Da o 371f0ae R el fg@vsfid DNA &1 B3#R ffed 2. Gan 71 g¢
o T2-fao]- =il 207 2 ¥ % @S 210 nm 7R T faearerss &1 37ed 3Tvas 91 330 Da, T2 3 STHM & awrg
o I o1 T e T TR e g

A)6x 10°T 6.4 x 10° nm
B) 40 x 10°¥41 x 10° nm
C) 1.8x 10°¥2x 10° nm
D) 6x 10* ¥ 6.4 x 10* nm



Question Number : 114 Question Id : 5977431274 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

In the graph below. where N is population size and t is time, M represents

dN/dt

A) specific growth rate.

B) median population size.

C) carrying capacity.

D) minimum population size without going extinct.

Question Number : 114 Question Id : 5977431274 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

i few o Tt © N ST 3 SR S ST ¢ o9 o e R 2. 39 e T M 9 5 9niar 22

dn/dt

A) T aig=

B) AT o STERIK i HITEAaRT (median)

C) & &9l (carrying capacity)

D) forcTd 8 ST i 3Tareen U e ST &1 =Had SR
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Match the metabolic pathways in Column I with their corresponding intermediate molecules listed

in Column IT

Column I Column II

P. Krebs cycle i. Dihydroxy acetone phosphate
Q. Glycolysis ii. Succinate

R. Electron transport chain iii. Cytochrome c

S. Nitrogen fixation iv. Glutamate

v. Glyoxylate
Choose the CORRECT combination.

A) P-ii, Q-i, R-iii, S-iv
B) P-1, Q-v, R-1v, S-11
C) P-v. Q-i, R-iii, S-iv
D) P-ii, Q-i, R-iii, S-v

Question Number : 115 Question Id : 5977431275 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

T (column) 1 H ST STo=RIT 721l o1 T 111 37 T (intermediate) 3TU[AT § GHe hifoRl]
Column I Column II
P. thel =1k i. ST3-BT3STaRT THie Hehe
Q. TATgHITTR ii.. A
R. 30iagH UiEsT @ iii. TR ¢
S. ATgeT=H TR iv. TERIE
V. ‘?IE'@W@?I

Hel IS 1 = hifA]

A) P-ii,Q-i, R-iii, S-iv
B) P-i, Q-v,R-iv,S-ii
C)P-v,Q-i,R-iii, S-iv
D)P-ii,Q—i,R-iii, S-v

Question Number : 116 Question Id : 5977431276 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ



By comparing mitosis and meiosis occurring in the same organism, which ONE of the following
options is CORRECT regarding the DNA content per cell?

A) Mitotic anaphase > Meiotic anaphase I = Meiotic anaphase IT
B) Mitotic anaphase = Meiotic anaphase I > Meiotic anaphase 1T
C) Mitotic anaphase < Meiotic anaphase I = Meiotic anaphase IT
D) Mitotic anaphase = Meiotic anaphase I < Meiotic anaphase 1T

Question Number : 116 Question Id : 5977431276 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

TordT =Tier TereTey o Tt 3R STelgt e TSl ehl QT el WX 34 St o SIfel shifSTehT DNA 26l 51T o e 3 e 34 &l
1 foreT |/t 27

A) TERET T > STERER el [ = STeRp qermEe 11
B) TP TSI = STeRET TSTaRe | > ST qarEee 1
C) TP TTEET < STEREAT TSIl | = STt g 11
D) HEHAT THTET = ST TR | < TR Teree 1

Question Number : 117 Question Id : 5977431277 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Which ONE of the following is likely to occur upon heating a solution of eukaryotic protein from
20°C $095°C?

A) Breakage of disulphide bonds
B) Change in primary structure
C) Hydrolysis of peptide bonds
D) Change in tertiary structure

Question Number : 117 Question Id : 5977431277 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

ST FohaehI Sf1a o N2 o foer %1 20°C W 95°C T T & © af -1 5 4 91 B o |IaT &2

A) SI3-ACHES FHll & 221
B) STIfieh T 5 giEd
C) UZTES Yl 1 STel-3TTee
D) eI =T 1 TR

Question Number : 118 Question Id : 5977431278 Question Type : MCQ Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

Which ONE of the following statements is INCORRECT about the hexokinase-catalysed reaction

given below?

Glucose + ATP — Glucose-6-phosphate + ADP

A) This reaction takes place in the cytoplasm

B) This is an endergonic reaction
C) Folding of hexokinase to fit around the glucose molecule excludes water from the active

site
D) This reaction involves an induced fit mechanism in hexokinase

Question Number : 118 Question Id : 5977431278 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

et fow e EawreRTE O Sl TR & w O i a1 FF e 82

Glucose + ATP — Glucose-6-phosphate + ADP

A) 78 ATfeha ST 257 1 BIel 2,

B) 7 U Setiort Al €.

C) 7T o 30] < TR ST A S o feIg SarahIs=t 3 9 (folding) ¥ foramiemeh Torer & et frfeh i 2.
D) T& atfufehan sfvia-sraftem (induced fit) Toraniater st fﬂfij'l?!:faﬂ_cﬁ T

Question Number : 119 Question Id : 5977431279 Question Type : MCQ Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Question Label : MCQ

An ecologist samples trees in multiple forest plots to determine species richness. Which ONE of the

following can help determine the adequacy of sampling effort?

A) Graph the number of new tree species in each successive sampling plot.

B) Graph the total number of tree species per total area for all plots combined.

C) Graph the number of individuals per tree species in each successive sampling plot.
D) 30 sampling plots are sufficient, irrespective of the forest area.

Question Number : 119 Question Id : 5977431279 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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U WG AT A TS shl S=RaT o ST o folq STerT-3TerT STel o -5 € Uei o 97 Ui oy, Fefafaa 5
U i T Torehe T % oo oh YT Sl wATHaT & et & e T aerds fag w e 82

A) Wﬁmﬁaﬁm\ﬂ@ﬁﬂﬁ?ﬁ (successive) %Wﬁmﬁﬁﬁﬁmﬁmﬂt@ﬁi
B) 1 o6l 1T ATt @il -9 o U i et ST TR el 4l ohl B 1 L=,

C) AT 2l ST ATt Wekeh STFhTEe Y-S ohl SIcieh TS ol =Tl "R SAT 2h AT ahl {attem.

D) ST 2 &AHE H ST 30 -5 ¥ 916 79 7416 &.

Question Number : 120 Question Id : 5977431280 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

In medical diagnostics for a disease. sensitivity (denoted a) of a test refers to the probability that a test
result is positive for a person with the disease whereas specificitv (denoted b) refers to the probability
that a person without the disease tests negative. A diagnostic test for influenza has the values of a =
0.9 and 5= 0.9. Assume that the prevalence of influenza in a population is 50%. If a randomly chosen
person tests negative. what is the probability that the person actually has influenza?

A) 001
B) 0.02
C) 0.05
D) 0.10

Question Number : 120 Question Id : 5977431280 Question Type : MCQ Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Question Label : MCQ

fepedt st o Fafercahia e wfsran o, sita i daeasficar (59 o @ gwiid &) Tt s saft o st o aftoms & o
& T TBRICH gi- ol TR i, it sit=r <6t farfsrear (e b @ owiia @) foreft sater forr o i 2t & o <it=r o witommi
o1 ST o i Fehriee i 261 ST 0 iid 8] G €1 Uk 37U shi el S H a = 0.9 31R b = 0.9 2| freli
HTETET 5 FHAUS el Tl ST 50% TS 715 &, Afe Foret sk i Sii=l TRIeaeh & a3 oafeh o Forel 3 F9equsi & uid
THITCH B+ =hT SIfreha fohet 22

A) 0.01
B) 0.02
C) 0.05
D) 0.10



